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EhERIE HERRE(A) | FIFEERE(B) | 1BIR(A)-(B)

Y I3 A 283,218,422 | 264,309, 773 18,908, 649
I 2 REEESM SN 50, 000 0 50, 000
o Y-ERAEENRZEET (1) 283,268,422 | 264,309, 773 18, 958, 649
z N 224,525,523 | 213, 650, 480 10, 875, 043
& ExE 25, 889, 841 25. 202, 004 687, 837
8| & |EBnE 19,199, 074 17, 335, 025 1,864, 049
12| B |iRfiEiNE 19,207, 396 18,987, 044 220, 352
K (BB & F TR IIE 7 S AR -10, 831,609 | -10, 664, 942 -166, 667
D Y-ERAEENERET (2) 271,990,225 | 264,509, 611 13,480, 614
BB | O —EXEBNERERE (3) = (1) — (2) 5,278,197 -199, 838 5,478, 035
K Iz SEF S AL SN 990 1,644 -654
s 2 TOMDOY —E EBSMNES 5,047, 402 5,492, 853 -443, 451
z Y-ERAEEIMNREET (4) 9,048, 392 5,494, 497 -446, 105
s | B | ZINFIR 1,004, 947 1,069, 614 -64, 667
« | B[p—ExEBSERE (5) 1,004,947 1,069, 614 ~64, 667
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REEnE R (7) = (3) + (6) 9,321, 642 4,225,045 5,096, 597
15 | UX | hEEs RS B b B UN A 160, 000 220, 000 -60, 000
Al | & | RFRIINESET (8) 160, 000 220, 000 -60, 000
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Vi o [EEHE & F TR RE 8 0 1,000, 000 -1, 000, 000
D RlERET (9) 39,900 1,071, 981 -1,032, 081
38 | HFRIIE AR (10) = (8) — (9) 120, 100 -851, 981 972, 081
LEREENERESRE (11) = (7) + (10) 9,441,742 3,373,064 6,068, 678
;; AIEAfR R ENE AR (1 2) 43,497,191 34,125,214 9,372,583
& |SEREECEENERAER (13) = (11) + (12) 52,939, 539 37, 498, 278 15, 441, 261
 |[EASEEE (14) 0 0 0
7 RofborETI R ERESE (15) 0 5,999, 519 -9, 999, 519
# | ZOMOIEIEIEEE (1 6) 2,000, 222 0 2,000, 222
,;?5 IREBERUEENERASE (17) = (13) + (14) + (15) - (16) 50, 939, 317 43,497,797 7,441,520




